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a) kpif – kpif tpUg;gkpd;ik 
 
&.000 Nfs;tp epiy 

jPu;khdk; (Kd;fl;lisf; 
fzpak;) 

200 
mzpfyd;fs; 

600 
mzpfyd;f

s; 

800 
mzpfyd;f

s; 

250 mzpfyd;fs; 
 

27 
 

17 11 

500 mzpfyd;fs; 18 
 

42 
 

36 

750 mzpfyd;fs; 10 52 
 

71 
 

 
kpif – kpif jPu;T 

 
NkYs;s gb fzpg;ghdJ> xt;nthU jPu;khdj;jpd; fPOk; kpff;$ba vy;yh ,yhgj;jpypUe;J 
kpff;$ba ,yhgk; &.71>000. MfNt kpif-kpif tpUg;gkpd;ikahdJ &.71>000> mjpy; 750 
mzpfyd;fs; fl;lisaplg;gl Ntz;baJ.   

(02 Gs;spfs;) 

 
b) Fiw – kpif tpUg;gkpd;ik 

&.000 Nfs;tp epiy 

jPu;khdk; (Kd;fl;lisf; 
fzpak;) 

200 
mzpfyd;fs; 

600 
mzpfyd;f

s; 

800 
mzpfyd;f

s; 

250 mzpfyd;fs; 0 35 
 

60 
 

500 mzpfyd;fs; 9 10 
 

35 
 

750 mzpfyd;fs; 
 

17 
 

0 0 

 
kpif – kpif tpUg;gkpd;ik jPu;T 

 

(03 Gs;spfs;) 
 (nkhj;jk; 5 Gs;spfs;) 

 



a) kpif – kpif tpUg;gkpd;ik 
 
&.000 Nfs;tp epiy 

jPu;khdk; (Kd;fl;lisf; 
fzpak;) 

200 
mzpfyd;fs; 

600 
mzpfyd;f

s; 

800 
mzpfyd;f

s; 

250 mzpfyd;fs; 
 

27 
 

17 11 

500 mzpfyd;fs; 18 
 

42 
 

36 

750 mzpfyd;fs; 10 52 
 

71 
 

 
kpif – kpif jPu;T 

 
NkYs;s gb fzpg;ghdJ> xt;nthU jPu;khdj;jpd; fPOk; kpff;$ba vy;yh ,yhgj;jpypUe;J 
kpff;$ba ,yhgk; &.71>000. MfNt kpif-kpif tpUg;gkpd;ikahdJ &.71>000> mjpy; 750 
mzpfyd;fs; fl;lisaplg;gl Ntz;baJ.   

(02 Gs;spfs;) 

 
b) Fiw – kpif tpUg;gkpd;ik 

&.000 Nfs;tp epiy 

jPu;khdk; (Kd;fl;lisf; 
fzpak;) 

200 
mzpfyd;fs; 

600 
mzpfyd;f

s; 

800 
mzpfyd;f

s; 

250 mzpfyd;fs; 0 35 
 

60 
 

500 mzpfyd;fs; 9 10 
 

35 
 

750 mzpfyd;fs; 
 

17 
 

0 0 

 
kpif – kpif tpUg;gkpd;ik jPu;T 

 

(03 Gs;spfs;) 
 (nkhj;jk; 5 Gs;spfs;) 

 

&. kpy; 

tUlk; KjyPL tUkhdk; 
njhopw;ghl;Lf; 

fpuak; 
fhRg; 

gha;r;ry; 
Cum. CF 

0 (180.00) 
  

(180.00) (180.00) 

1 
 

50.00 (30.00) 20.00 (160.00) 

2 
 

80.00 (40.00) 40.00 (120.00) 

3 
 

100.00 (50.00) 50.00 (70.00) 
 

4 
 

110.00 (60.00) 50.00 (20.00) 

5 20.00 80.00 (40.00) 60.00 40.00 

 
kPs; nrYj;Jiff; fhyk;  = 4 tUlq;fs; + 20/60 * 12 khjq;fs; 

      4 tUlq;fSk; 4 khjq;fSk; 

(nkhj;jk; 5 Gs;spfs;) 

 



a) (i) tpw;gid tpiy Kuz; = tpw;gidg; ngWkjp Kuz; - tpw;gidf; fdtsT Kuz;  
 =  &. 600>000F  - &. 360>000A 
   =  &. 960>000F 

tpw;gid tpiy Kuz; vg;NghJk; tpw;gid tpiy vy;iy Kuz;  
tpilahdJ &400>000 F MdJ rupahd gjpyhff; fUjg;gLfpwJ. 

(02 Gs;spfs;) 

(ii) tpw;gidf; fdtsT vy;iy Kuz; 

    = tpw;gid vy;iy Kuz; - tpw;gidf; vy;iy tpiy Kuz; 

    =  &. 150>000A - &. 960>000F 

  =  &. 1>110>000A 

tpw;gid tpiy vy;iy Kuz; MdJ &400>000 F fUjg;gLfpwJ> gpd; tpw;gidf; 
fdtsT vy;iy Kuz; &. 550>000A Mf ,Uf;Fk;.     

(02 Gs;spfs;) 

b) (i) tpw;gid tpiy Kuz;  

= cz;ikahd tpw;gid myFfs; x (ghjplg;gl;l 
tpiy - rupahd tpiy) 

&. 960>000 F    =  cz;ikahd tpw;gid myFfs; x (40 - 50) 

cz;ikahd tpw;gid myFfs; = &. 960>000 / 10 

cz;ikahd tpw;gid myFfs; =    960>00 myFfs; 

(03 Gs;spfs;) 

(ii) tpw;gidf; fdtsT Kuz; =  epak tpiy (epak tpw;gid myFfs; -                                                                                                                                                                                                       
cz;ikahd tpw;gid myFfs;) 

&. 360>000A =  40 (epak tpw;gid myFfs; - 96>000) 

&. 360>000A / 40 =  (epak tpw;gid myFfs; - 96>000) 

epak / ghjplg;gl;l tpw;gid myFfs; 

 =       (9>000) + 96>000 

  =    87>000 myFfs; 

(03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

  



a)   1 Kd;Dupikg; gq;F %yjdk;  
2 ePz;l fhyf; fld;fs; 
3 fldPLfs; 
4 Fj;jif / thliff; nfhs;tdT 

(02 Gs;spfs;) 

b)    ro  = d / Po      

= (5 / 50) x 100 

= 10% 

(02 Gs;spfs;) 

c) kPl;fj;jF jdpr;rq;fspd; fpuak; 

tUlk; tpguk; 
fhRg; 

gha;r;ry; 
DF @ 10% DCF DF @ 15% DCF 

0 
Kd;Dupikg; gq;F 
tpepNahfk; 

94 1 94 1 94 

1-8 tl;b (14) 5.335 (74.7) 4.487 (62.82) 

8 kPl;G (100) 0.467 (46.7) 0.327 (32.7) 

    (27.4)  (1.52) 

 

IRR = 15% -  5% x (1.52) 
       25.88 
  = 14.71% 

(03 Gs;spfs;) 

d)  

%yjd %yk; kjpg;G %yjdf; fpuak; fpuak; 

rhjhuz gq;F 5>000 10% 500 

jdpr;rq;fs; 2>350 14.7% 345.45 

 7>350  845.45 

 

  WACC = (845.45 / 7,350) x 100 

   = 11.5% 

  



(a) 
(&. kpy;ypad;) 

 0 1 2 3 4 

%yjdk; (120) - - - - 

,ae;jpu KbT / vr;r 
ngWkjp ngWkjp 

- - - - - 

tUkhdk; - 64 67.2 70.56 74.09 

Neubr; nryTfs; - (20) (21) (22.05) (23.15) 

njhopw;ghl;L %yjdk; (6) - - - 6 

tup (W1) - (1.12) (1.74) (2.38) (18.74) 

 (126) 42.88 44.46 46.13 54.20 

DF 1 0.893 0.797 0.712 0.636 

 (126) 38.29 35.43 32.84 34.47 

NPV 15.03     

 

(W1) 

 1 2 3 4 

tUkhdk; 64 67.2 70.56 74.09 

fpuak; (20) (21) (22.05) (23.15) 

,ae;jpu KbT / vr;r 
ngWkjp ngWkjp 

- - - 16 

%yjdf; nfhLg;gdT (40) (40) (40) - 

 4 6.2 8.51 66.94 

tup @28% 1.12 1.74 2.38 18.74 

 

(b)   ,e;j ,ae;jpuk; xU Neu;kiwahd epfu ,w;iwg; ngWkjp &.15.03 kpy;ypad; 
Vw;gLj;Jk; Mifahy; ,ae;jpuj;ij thq;f gupe;Jiuf;fpd;Nwhk;.  

(10 Gs;spfs;)  



a)  

 rpg;]; nrhf;nfh 

tpw;gid tpiy 100 80 

Neu; nghUl;fs; (45) (36) 

Neu; $yp (25) (21.10) 

ve;jpu kzpj;jpahyq;fs;- 
fyitaply; 

(3.00) (2.40) 

nghjpaply; (1.00) (0.50) 

nkhj;j khWk; fpuak; 74 60 

nghjpnahd;wpw;fhd gq;fspg;G 26 20 

(5 Gs;spfs;) 

b) khwpfs;  

rpg;]; kw;Wk; nrhf;nfh cw;gj;jpg; nghjpfspd; vz;zpf;ifia KiwNa x 
kw;Wk; y vdf; nfhs;Nthk;. 

Nehf;fr; rhu;G : mjpfupf;f 26x + 20y 

tiuaiwfs; 

x x (5/60) + y x (4/60) ≤ 2,800        26x + 20y fyitaply; tiuaiwfs; (1) 

x x (2/60) + y x (1/60) ≤ 1,000        26x + 20y nghjpaply; tiuaiwfs;  (2) 

tiuaiwfs;  x ≤ 20,000          Nfs;tp tiuaiwfs;  

   y ≤ 30,000 

vjpu;kiway;yhj tiuaiwfs;  

x ≥ 0 ; y ≥ 0 

(7 Gs;spfs;) 

 

c) ,izf;fg;gl;l tiuGj; jhnshd;iwg; ghu;f;fTk; 
(1) 5x + 4y ≤ 168,000 

If x = 0 then y = 42,000 my;yJ FiwT 

If y = 0 then x = 33,600 my;yJ FiwT  



  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
d) 

Optimum production mix 
Point C is the optimal production mix in which 20,000 Units of Chips and 17,000 units of 
Choco will be produced.  

 
e) 

Contribution calculation under corner point method.  
 
Corner point method 
A Y=30,000 , X=0 
 (30,000 X 20) + (0 X 26) = 600,000 
  

B X=9,300 ,Y=30,000 
 (9,300 X 26) + (30,000X20) = 841,800 
  

C X=20,000 ,Y=17,000 
 (20,000 X 26) + (17,000X20) = 860,000 
  

D Y=0 , X= 20,000 
              (0 X 20) + (20,000 X 26) = 520,000 

  

a) cj;jk cw;gj;jpf; fyit    

rpg;]; - 20>000 rpg;]; – 10>000 

                                my;yJ 

                   nrhf;nfh - 17>000 nrhf;nfh – 30>000 

(2 Gs;spfs;) 

b) rhj;jpakw;w gFjp OPQRS 

  mjpAau; gq;fspg;G 

O - - 

P (0>30000) 20 x 30>000 600>000 

Q (10>000 > 30000) 10>000 x 26 
30>000 x 20 

860>000 

R (20>000 > 17>000) 20>000 x 26  
17>000 x 20 

860>000 

S (20>000) 20>000 x 26 520>000 
 

mjpAau; gq;fspg;G = 860>000 

(03 Gs;spfs;) 
(nkhj;jk; 25 Gs;spfs;)  



A 

a)  

&.000 ghjPL  
rhjfkhd 
ghjPL 

cz;ikahd khWghL 

tpw;gidf; fzpak; 125>00  138>000 138>000 - 

tpw;gid 27>500.00 27>500/125*138 30>360.00 30>153.00 (207) 

khWk; fpuak;      

nghUl;fs; fpuak; (5>750.00) 5>750.00/125*138 (6>348.00) (6>520.50) (172.5) 

$ypf; fpuak; (7>500.00) 7>500.00/125*138 (8>280.00) (8>298.40) (18.4) 

cw;gj;jp 
Nke;jiyfs; 

(5>000.00) 5>000.00/125*138 (5>520.00) (5>752.30) (232.3) 

tpepNahfr; nryTfs; (1>187.50) 1>187.50/125*138 (1>311.00) (1>290.30) 20.7F 

epUthfr; nryTfs; (900.00) 900.00/125*138 (993.60) (883.00) 110.6F 

khWk; fpuak; (20>337.50)  (22>452.60) (22>744.50) (291.9) 

gq;fspg;G 7>162.50  7>907.40 7>408.50 (498.9) 

epiyahd cw;gj;jp (2>375.00)  (2>375.00) (2>450.00) (75) 

epiyahd epUthfr; 
nryTfs; 

(540.00)  (540.00) (540.00) - 

nkhj;j epiyahd 
nryTfs  

(2>915.00)  (2>915.00) (2>990.00) (75) 

,yhgk; 4>247.50  4>992.40 4>418.50 (573.9) 
 

(09 Gs;spfs;) 
 

b) ghjPl;Lf; fl;Lg;ghl;L Kiwikapd; Nehf;fq;fs; 

 fl;lhag;gLj;jpa jpl;lkply; -  ghjPl;Lf; fl;Lg;ghl;L Kiwfisf; nfhz;L 
Kuz;fisf; fzpj;jYk;> kw;Wk; vjpu;fhyj;jpy; Kuiz jtpu;g;gjw;fhf 
jpl;lkplypy; gad;gLj;jg;gLk; nraw;ghl;bd; Kd;Ndw;wj;ij tprhuiz nra;jy;. 

 xUq;fpize;j eltbf;iffs; - Kuiz tprhuiz nra;jjd; tpisthf> 
Kuz;fis rupnra;tjw;F xd;wpize;j nraw;ghL Njitg;gLfpwJ. 

 ed;whf nraw;gLtjw;F Kfhikahsu;fis Cf;Ftpj;jy; - ,yf;Ffis 
toq;Ftjy; %yKk; kw;Wk; mtu;fSila rhjidia kjpg;gPL nra;tjd; 
%yKk; Kfhikahsu;fs; Cf;Ftpf;fg;gLfpd;whu;fs;. 

 ghjPL itj;jpUg;gtUf;F mjpfhuj;ij toq;Fjy; - ghjPl;il itj;jpUg;gtupd; 
Kf;fpa nghUg;ghdJ Kuz;fSf;fhd fhuzj;ij tpsf;FtJ kw;Wk; 
mjpfhuj;jpDs; rupahd nraiy vLf;f Ntz;Lk;.    

(09 Gs;spfs;)  



B) a) Neu; $yp tPj Kuz;  

 = rupahd kzpj;jpahyk; x (epiyahd tpfpjk; - rupahd tpfpjk;) 

 =  450  - (8,298,400 / 18,860) x    18860 

 =  188,600F 

(02 Gs;spfs;) 

b) Neu; $yp tpidj;jpwd; Kuz;  

= epiyahd tpfpjk; x (epiyahd kzpj;jpahyk;; - rupahd kzpj;jpahyk;) 
=  450  - (138,000 * 8/60)          18860 
=  207,000A 

(02 Gs;spfs;) 

c) 

njhopw;ghl;Lf; $w;W    

 &.000 &.000 &.000 

xJf;fg;gl;l gq;fspg;G   7>907.40 

tpw;gid Kuz;fs;   (207.00) 

   7>700.40 

khWk; fpuak; A F  

Neu; nghUs; tpiy Kuz;  144.90  

Neu; nghUs; ghtid Kuz; 317.40   

Neu; $yp tpfpj Kuz;  188.60  

Neu; $yp tpidj;jpwd; Kuz; 207.00   

khWk; Nke;jiy nrytpd; Kuz; 94.30   

khWk; Nke;jiy tpidj;jpwd; Kuz; 138.00   

tpepNahfr; nrytpd; Kuz;  110.60  

epUthfr; nrytpd; Kuz;  20.70  

nkhj;j khWk; fpuak; 756.70 464.80 (291.90) 

rupahd gq;fspg;G   7>408.50 

 
(06 Gs;spfs;) 

(nkhj;jk; 25 Gs;spfs;) 

  




